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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Micro Economic Analysis (230107101)

Day & Date: Friday, 05-01-2024 Max. Marks: 60
Time: 03:00 PM To 05:30 PM
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No. Set P

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Micro Economic Analysis (230107101)

Day & Date: Friday, 05-01-2024 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 Fill in the blanks by choosing correct alternatives given below. 12
1)  What type of relationship exists between the price and quantity demanded?
a) Direct b) Inverse
c) Positive d) None of these

2) Economies of scale of huge quantity production is called as
a) Internal Economies b) External Economies
c) Economies of Centralisation d) None of these

3) In 1881 indifference curves technique is basically propounded by
a) Marshall b) Edgeworth
c) Keynes d) Ricardo

4) Identify the market in which there is no clear-cut distinction between the firm
and industry .

a) Perfect competitio b) Monopoly
c) Monopsony d) Oligopoly

5) A functional relation between inputs and outputs is known as
a) Production function b) Demand function
c) Cost function d) All the above

6) In analysis of monopolistic competition ‘Group’ concept was propounded by

a) Srafé b) Mrs. Jhon Robinson
c) Prof. Chamberlin d) None of the above
7) Total Cost = Total fixed cost + .
a) Average variable cost b) Total variable cost
c) Marginal cost d) None of the above
8) In cardinal utility analysis the utility of money is assumed as
a) Increasing b) Decreasing
c) Stable d) Variable
9) Single price is prevailing in market.
a) Perfect competition b) Monopoly
c) Monopolistic Competition d) Oligopoly
10) Monopsony means a monopoly of .
a) One seller one buyer b) Many sellers many buyers
c) Many seller one buyer d) None of the above
11) In model seller believes the price of his Rival constant.
a) Cournot b) Stackelberg
c) Bertrand d) None of these
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Q.2

Q.3

Q.4

Q.5

12) Kinked demand curve is put forth by
a) Hicks b) Samuelson
c) Pawel Sweezy d) Marshall

Answer the following questions. (Any Four)
a) What is bilateral monopoly?

b) What is product differentiation?

c¢) What is economic model?

d) What is equilibrium point?

e) Define inductive method.

f) What is selling cost?

Write Short Notes (Any Two)
a) Price-effect.

b) Positive economics.

c) Features of iso-quants.

d) Explain the Price leadership.

Broad answers question. (Any One)

a) Explain the characteristic of indifference curve analysis.

b) State traditional and modern theories of cost.

Broad answers question.

SLR-AQ-1
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Explain the characteristic and price determination of monopolistic competition.
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Economics of Growth and Development (230107102)

Day & Date: Sunday, 07-01-2024 Max. Marks: 60
Time: 03:00 PM To 05:30 PM
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No.

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:

Day & Date: Sunday, 07-01-2024

Oct/Nov-2023
Economics of Growth and Development (230107102)

Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct Alternative.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

"Big push" theory is propounded by .
a) Karl Marx b)  Arthur Lewis
c) Rodan d) John Keynes

According to Arthur Lewis most of the under developed countries are having
sector economy .

a) Two b) Three

C) Multi d) None of the above

Theory of "Economic Growth with Unlimited Supply of Labour" is propounded
by .

a) Karl Marx b) John Keynes

c)  Arthur Lewis d) None of the above
Vicious circle of poverty exits in countries.

a) Developed b) Progressed

c) Underdeveloped d) None of the above
The Pasinetti growth model is an extension of growth model.
a) harrod-Domar b)  Mahalnobis

c) Kaldor d) None of the above
The rate of growth of population is in underdeveloped countries.
a) Lower b)  Higher

c) Stable d) None of the above

is the prime occupation of underdeveloped countries.

a) Agriculture b)  Industry

c) Trade d) None of the above
The concept of "Learning by doing" is presented by

a) Solow b) Kaldor

c) Arrow d) Passinetti
Uzawa growth model is known as __ growth model.
a) Two sector b)  Three sector

c)  Multi sector d) None of the above
Kaldor assumes that technical progress depends upon the rate of
a) Savings b) Investment
c)  Capital accumulation d) None of the above.

Set

P

Max. Marks: 60
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Q.2

Q.3

Q.4

Q.5

11) Solow's growth model is also known as growth model.

a) Classical b)  Socilistic

c) Neo-Classical d) None of the above
12) Solow's growth model is growth model.

a) Shortrun b) Longrun

c) Classical d) None of the above.

Write a short Note (Any Four)

SLR-AQ-2

12

a) What is the role of education and research in economic development?

b) What is meant by non-embodied technical progress?
c¢) Whatis endogenous growth?
d) Explain any four indicators of Human development.

e) Explain any four differences between economic development and economic

growth
f) Explain the Balanced and unbalanced development.

Write a short answer (Any Two)

a) Explain the various factors affecting on economic growth.
b) Explain the "Big Push" theory.

c) Intellectual Capital.

d) Population and Environment.

Write long answers of the following: (Any One)

a) Explain the Schumpeter's theory of economic development.

OR
b) Explain the characteristics of under developed country?

Explain Mrs. Joan Robinson's model of economic development.
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Financial Institutions and Markets | (230107103)

Day & Date: Tuesday, 09-01-2024 Max. Marks: 60
Time: 03:00 PM To 05:30 PM
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No.

Set

Day & Date: Tuesday, 09-01-2024

Time:

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Financial Institutions and Markets | (230107103)

03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.

Q.1

2) Figures to the right indicate full marks.

Choose the correct alternative from the following options.
1) Monetary Policy is implemented by Bank.
a) ICICI b) AXIS
c) Central d) State
2) comes under unorganized sector.
a) Nationalized Bank b)  Commercial Bank
c) Co-operative Banks d) Money Lenders
3) E-Bankingis a banking.
a) ATM b) Internet
c) Commercial d)  None of the these
4) What are the measures of credit control of the central bank?
a) Quantitative measures b) Qualitative measures
c) a)&b) d) None of the these
5) is the part of structure of financial system.
a) Stock Market b) Banks
c) Mutual Funds d) All of these
6) Monetary policy is related to
a) Control on banking b)  Control on financial institutions
c) Control of supply of money d) None of the these
7) Inthe financial system interest rates are freely determined by the
market.
a) Undeveloped b) Developed
c) Controlled d) Public
8) Inthe Modern Theory of Interest is use of
a) Use of IS curve b)  Use of LM curve
c) Use of IS-LM model d) Use of demand for money
9) is the main function of Commercial Bank.
a) Credit control b) Credit creation
c) Money targeting d) None of the above
10) The shape of L.M. curve is
a) Upward sloping b)  Downward sloping
c) Vertical (parallel to y axis) d) Horizontal (parallel to x axis)

P

Max. Marks: 60
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Q.2

Q.3

Q.4

Q.5

11) Classical theory of interest is depends on
a) Sacrifice of consumer
b) Preference of time series
c) Waiting
d) Demand for capital and supply of capital

12) policy controls over credit creation.
a) Fiscal b) Monetary
c) Budgetary d) Allof these

Write short Answers. (Any Four)

a) Whatis Interest Rate?

b) Whatis Core Banking?

c) Demerits of Internet Banking?

d) Aims of monetary policy in developing countries.
e) Whatis Prime Lending Rate?

f) State the motives of Demand for money.

Write Short Notes (Any Two)

a) Structure of Financial System.

b) Classical theory of Rate of Interest.

¢) Financial system and Economic Development.

d) Objectives of monetary policy in developing countries.

Broad answers question (Any One)

a) Explain the Keynesian Theory of Rate of Interest.
OR

b) Explain the IS-LM theory of interest rate.

Broad answers question.
What is Central Bank? State the functions of Central Bank.

SLR-AQ-3
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Research Methodology in Economics (230107105)

Day & Date: Thursday, 11-01-2024 Max. Marks: 60
Time: 03:00 PM To 05:30 PM
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No. Set | P

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Research Methodology in Economics (230107105)

Day & Date: Thursday, 11-01-2024 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 Choose the correct alternative from the following options. 12
1) is a characteristic of a good research topic.
a) Data unavailability b) Inadequate
c) Significant d) Unethical
2) Atleast persons are involved in interview.
a) two b) four
C) six d) ten
3) Questions in the questionnaire should be
a) simple b)  understandable
c) answerable d) Al
4)  The objective of research should be
a) realistic b) unrealistic
c) unethical d) None of these
5) Hypothesis is considered to be in research.
a) guide b) misguide
c) alter d) None of these
6) A study of unit is performed in the case study.
a) one b) two
c) three d) many

7) Research design is required to

a) to draw accurate conclusion
b) collect data and to know its meaning
c) formation of useful enquiry techniques
d)

All
8) A sample should be
a) very small b)  very big
c) representative d)  none of these
9) is an instrument of secondary data collection.
a) Observation b)  Public records and reports
c) Interviews d) Questionnaire
10) is an instrument of primary data collection.
a) Observation b)  Diary
c) Biography d)  Auto biography
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Q.2

Q.3

Q.4

Q.5

SLR-AQ-4

11) The good research study is always

a) slow b) fast

c) unrealistic d) systematic and scientific
12) is the feature of good research report writing.

a) Clarity of ideas b) Complications

c) lIrrelevance d) None of these

Write short Answers. (Any Four)

a) State the objectives of research.

b) What is formulation of research problem?
c) What is research design?

d) State the importance of hypothesis.

e) Explain significance of research design.
f) State the meaning of observation.

Write Short Notes. (Any Two)

a) Types of concept

b) Characteristics of good research design
¢) Merits of questionnaire technique

d) Preparation of the project report

Write answers in detail. (Any One)

a) Explain the contents of report and characteristics of good report writing.
OR

b) Explain merits and demerits of sampling technique.

State the sources of primary and secondary data collection.

12

12

12

12
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M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Industrial Economics —I (230107106)
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Time: 03:00 PM To 05:30 PM
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Seat

No. Set P

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Industrial Economics-l (230107106)

Day & Date: Friday, 29-12-2023 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 12
1) __ is the important factors of determining Industrial localization.
a) Availability of National Resources
b) Availability of Human
c) Government Policies
d) All of the above

2)  The ownership and control of the firm in the same hand means .
a) Co-operative organization b) individual proprietorship
c) Joint Stock company d) Corporate firm

3) According to Hanson, an independently administrated business unit means

a) Plan b) Firm
c) Industry d) None of the above

4) Present Industrial policy in India aims at:
a) Promoting the private sector units.
b) Increasing the production of public sector units.
c) Accelerating the performance of mixed economy.
d) Discourage the performance of the private sector.

5) India's five year plan was to develop the country type.
a) The public sector
b) The private sector
c) The public, private, joint and co-operative sectors
d) Increasing collaboration with non-resident Indians

6) Large scale Industries are mainly

a) Labour intensive b) Capital intensive
c) Land intensive d) None of the above
7) factors are important to raise industrial productivity.
a) New technology b) Finance
c) Skilled labour d) All of the above
8)  When manufacturers choose a location that will reduce their production costs, it
is called
a) Tourist place b) Office Place
c) Market Place d) Industrial
9) The Second Five Year plan laid more stress on .
a) Agriculture b) Industrialization
c) Removing poverty d) Self-reliance
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Q.2

Q.3

Q.4

Q.5
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10) is the example of large-scale industries.
a) Sugar factory b) Handloom
c) Cement factory d) None of the above
11) Industry is included in small-scale industry.
a) Textile b) Tiny
c) Tata d) Reliance
12) is the factor determining Firm productivity.
a) Skilled labour b)  Unskilled labour
c) Traditional technology b) Answer a) and c)

Answer the following (Any Four)

a) State the any two factors determining of Industrial Productivity.
b) State the meaning of Industrialization.

c) Define the concept of optimum firm.

d) Whatis meant by small scale Industry?

e) Define the concept of multinational corporations.

f)  State the any two factors of determining of Industrial location.

Write short notes (Any Two)

a) Role of Industries in Economic development.

b) Impact of multinational companies on Indian Industries.
c¢) Sergeant Florence theory of Industrial Location.

d) Problems of small scale Industries.

Board answers question.

Discuss the Alfred Weber's theory of Industrial location.
OR

Explain the classification of Industries.

Broad answers question.
What is Industrial Productivity? Explain the factors determining of Industrial
productivity.

12

12

12

12
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Seat
No.

Set| P

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:

Day & Date: Friday, 29-12-2023

Oct/Nov-2023
Indian Economic Policy -1 (230107107)

Time: 03:00 PM To 05:30 PM
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Seat
No. Set| P

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:
Oct/Nov-2023
Indian Economic Policy -1 (230107107)

Day & Date: Friday, 29-12-2023 Max. Marks: 60
Time: 03:00 PM To 05:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 12
1)  The first five year plan (1950-56) was based on model.
a) P.C. Mahalankobis b) Harrod Deomar
c) Prof. Rostow d) J. A. Shumpeter
2) New Economic Policy is accepted in )
a) 1990 b) 1991
c) 1992 d) 1993
3) The second five year plan was focused on sector
a) Agriculture b) Industry
c) Service d) All of these
4) According to 2011 census the density of population is highest in
city :
a) Pune b) Delhi
c) Mumbai d) Solapur
5) is the prominent causes of rural — urban migration.
a) Unemployment b) Climate
c) Culture d) None of the above
6) The economic development of a country is influenced by
a) Capital b) Labour
c) Technology d) All of these
7) The slogan of 11" five years plan was )
a) Agriculture development b) Eradication of poverty
c) Rural Development d) Inclusive growth
8) Indian census takes place after every year.
a) five b) ten
c) twenty d) fifty
9) is the important component of social infrastructure.
a) Education b) Health
c) Standard of living d) All the above
10) The concept of Indian poverty has been propounded by
a) Mahatma Gandhi b) Lokmanya Tilak
c) Dadabhai Naoroji d) None of the above
11) Presently India is at number in the world about population.
a) First b) Second
c) Third d) Fourth
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Q.3

Q.4

Q.5
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12) The National Rural Health Mission (NRHM) started in .
a) 2001 b) 2012
c) 2005 d) 2007

Write Short answers (Any Four)

a) Define the economic planning.

b) What is death rate?

c) Define migration.

d) Whatis per capita income?

e) State the meaning of sustainable development.
f) Causes of inequality in India.

Write Short Notes. (Any Two)

a) Explain Regional Imbalance.
b) Environment and development.
c¢) Sexratio in India.

d) Urbanization.

Broad answers question (Any One)

What is economic development? Explain the indicators of economic development.

OR
Write on the achievements and failures of NITI Aayog.

Broad answers question
Explain the broad demographic features in India.

12

12

12

12
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No.

Set| P

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:

Oct/Nov-2023
Principles & Practice of Co-Operation | (230107104)

Day & Date: Saturday, 30-12-2023 Max. Marks: 30
Time: 03:00 PM To 04:30 PM
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Seat
No.

Set P

M.A. (Economics) (Semester - 1) (New) (NEP CBCS) Examination:

Oct/Nov-2023
Principles & Practice of Co-Operation | (230107104)

Day & Date: Saturday, 30-12-2023 Max. Marks: 30

Time: 03:00 PM To 04:30 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternatives from the options. 06
1)  Refaizon Institution was established to do
a) Loan supply to Farmers b) Loan supply to industries
c) Loan supply to Traders d) Loan to the organization
2)  Afirst country to start co-operative credit movement in the world is
a) India b) Italy
c) France d) Germany
3) is known as a apex society of the co-operative societies in the state.
a) DCCB b) Marketing Co-operatives
c) Fruits and Vegetable d) State Co-operatives Bank
4) The co-operative societies are working for the people of society.
a) Economically strong b) Economically backward
c) Politically strong d) all of these
5)  Co-operative societies are type of organisation.
a) General b) Special
c) Democratic d) None of these
6) The first Co-operative Act was passed in India in the year.
a) 1902 b) 1903
c) 1904 d) 1906
Q.2 Answer the following questions. (Any Two) 06
a) State the objective of state co-operative banks.
b) State the Rochdale principles of co-operation.
c) Define Urban Co-operative Bank
d) State the origin of Co-operative movement in the world.
Q.3 Short Note. 06
Voluntary and open membership principle.
Q.4 Answer the following broad question. (Any One) 12

Explain the structure, progress and problems of State Co-operative Banks.

OR
Explain the role of Co-operation in mixed economy.
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Seat

No. Set| P

M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination:
Oct/Nov-2023
Micro Economic Analysis (MA24101)

Day & Date: Friday, 05-01-2024 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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Seat
No.

Day & Date: Friday, 05-01-2024

M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination:
Oct/Nov-2023
Micro Economic Analysis (MA24101)

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 Fill in the blanks by choosing correct alternatives given below.

1)

2)

3)

4)

5)

6)

7)

8)

9)

Iso-quants are always to origin.
a) concave b) convex
c) parabolic d) None of these

Price effect is

a) Related to income effect

b) Related to substitution effect

c) combined effect of the both income and substitution effect
d) None of above

Non-price competition is the feature of market
a) perfect competition b)  monopoly
c) monopolistic competition d) duopoly

Average cost means

a) Total cost + Total production

b) Total cost + Marginal cost

c) Total production =+ Marginal cost
d) None of these

approach is measure the utility in quantitative terms.
a) Cardinal b) Ordinal
c) Cardinal and Ordinal d) None of the above

Long run average cost curve is

a) U shaped

b) U but flat shaped

c) slope downwards from left to right
d) None of the above

Economics of scale of huge quantity production is called as
a) Internal Economies b) External Economies
c) Economics of Centralisation d) None of these

Economic problem is a problem of

a) Scarcity b) Choice

c) Essential d) Perfect competition

In 1881 indifference curves technique is basically propounded by
a) Marshall b) Edgeworth

c) Keynes d) Ricardo

Set

P

Max. Marks: 80

16
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Q.2

Q.3

Q.4

Q.5
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10) Responsiveness of the demand to change in income is known as
a) Income elasticity b) Price elasticity
c) Cross elasticity d) None of the above

11) Identify the market in which there is no clear cut distinction
between the firm and industry

a) Perfect competition b)  Monopoly
c) Monopsony d) Oligopoly
12) The demand for the output of each producer is under perfect
competition.
a) perfectly inelastic b) perfectly elastic
c) less elastic d) More elastic
13) market consider selling cost is done.
a) Perfect competition b)  Monopoly
c) Monopolistic Competition d) Oligopoly
14) In Iso-quants is measured on X and Y axis.
a) Commodities b) Factors
c) Money income d) Realincome
15) All factors of production are privately owned and managed by individual is
known as
a) Socialistic economy b) Capitalistic economy
c) Mixed economy d) None of the above

16) Indifference curve are deals with
a) Consumption
c) Distribution

Production
None of these

QT
~~—1,

Write short Answers. (Any Four out six)
a) Whatis ordinal utility?

b) What is income effect?

¢) What is iso-quant?

d) What is deductive method?

e) What is marginal rate of substitution?
f) What is monopsony?

Write answers the following questions. (Any Two)
a) Explain the economies of scale.

b) Discuss about price discrimination.

c) Explain the Price leadership.

d) Explain the Cobb-Douglas production function.

Broad answers question. (Any One)
a) Explain the characteristics of perfect competition.
b) Explain the ‘Euler’s theorem’ in detail.

Broad answers question.
What is indifference curve? Explain the characteristics of indifference curve.

16

16

16

16
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Seat
No. Set| P

M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination:
Oct/Nov-2023
Economics of Growth and Development (MA24102)

Day & Date: Sunday, 07-01-2024 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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Seat

No. Set| P

M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination:
Oct/Nov-2023
Economics of Growth and Development (MA24102)

Day & Date: Sunday, 07-01-2024 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) use of stencil is allowed.
4) Draw diagram wherever necessary.

Q.1

Choose the Correct Alternative. (1 Marks each)

16

1)  General poverty is the prominent feature of countries.
a) Developed b) Progressed
c) Developing d) Under developed

2) is the important cause of environmental degradation.
a) Urbanisation b) Industrialisation
c) Growth in population d) All the above

3)  According to Schumpeter the role of is very important in the
process of economic development.
a) Labour b) Land
c) Capital d) Innovator

4) The theory of surplus value is propounded by
a) Adam Smith b) David Ricardo
c) John Keynes d) Karl Marx

5) Economic development is related with countries.
a) Under developed b) Developed
c) Progressed d) None of the above

6) Economic growth is related with countries.
a) Undeveloped b) Backward
c) Developed d) None of the above

7) Economic development denotes a change in the economy.
a) Quantitative b) Qualitative
c) Structural d) None of the above

8) Economic growth denotes a change in the economy.
a) Quantitative b)  Qualitative
c) Structural d) None of the above

9) is an important factor in the process of economic
development.
a) Land b) Labour
c) Capital formation d) None of the above

10) Harrod-Domar assigned a key role to in the process of
economic development.
a) Saving b) Investment
c) Rate of Interest d) None of the above
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Q.3

Q.4

Q.5
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11) Solow’s growth model is growth model.
a) Shortrun b) Long run
c) Classical d) None of the above
12) Solow’s growth model is also known as growth model.
a) Classical b) Socialistic
c) Neo-Classical d)  None of the above

13) Kaldor assumes that technical progress depends upon the rate of

a) Savings b) Investment

c) Capital accumulation d) None of the above
14) Uzawa growth model is known as growth model.

a) Two sector b)  Three sector

c) Multi sector d) None of the above
15) The concept of ‘Learning by doing’ is presented by

a) Solow b) Kaldor

c) Arrow d) Passinetti
16) outlined the nature of Embodied and Disembodied

technological change.

a) Solo b) Hicks

c) Harrod d) Arrow

Write Short answers. (Any Four out of six)

a) What is meant by under development?

b) Explain any two differences between economic development and
economic growth.

¢) What is endogenous growth?

d) What is the role of education and research in economic development?

e) What is equilibrium trap?
f) What is dualism?

Write Short Notes. (Any Two out of four)
a) Balanced development

b) Dualism

c¢) Golden age

d) Non embodied technical progress

Broad answers question. (Any One)
Explain the Solo’s neo classical model of economic growth.
OR
What is meant by balanced development & un balanced development?

Broad answers question.
Explain the Schumpeter’s theory of economic development.

16

16

16

16
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M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination: Oct/Nov-2023
Economics of Environment (MA24103)

Day & Date: Tuesday, 09-01-2024 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination: Oct/Nov-2023

Economics of Environment (MA24103)

Day & Date: Tuesday, 09-01-2024 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of Stencil is allowed.

Q.1 Choose the correct alternatives from the options. 16

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Environment economics studies the interrelationship between environment
and

a) Economic development b) Social development

c) Technological development d) None of the above

Economically strong India requires the most.

a) More Raw material b) Trained Labour force

c) Plenty of Water d) Sound Environment policy
is not conducive to environment.

a) Conservation b) Exploitation

c) Recycling d) Protection
is conducive to environment.

a) Deforestation b) Exploitation

c) Recycling d) Pollution

Earth day is celebrated on .

a) 22" March b) 22" April

c) 22" Sep d) 22 Qct

The word environment is derived from language.

a) French b) Latin

c) Greek d) Roman

Deforestation means

a) Plantation b)  Cutting of tress

c) Social forestry d)  Economic Development

The development which is complementary to the environment is
development.

a) Eco friendly b)  Structural

c) Fundamental d) None of the above
‘Prevention and Control of Air Pollution’ act is passed in in India.
a) 1971 b) 1981

c) 1991 d) 2001

Environment goods are goods.

a) Private b) Public

c) Public and Private d) None of the above
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11) Environmental problem can be solved by
a) Education
b) Value based environmental education
c) Physical education
d) Health education

12) Environment economics mainly build its theoretical foundation on

a) Monetary economics b)  Development economics
c) Agriculture economics d)  Welfare economics
13) Sustainable development doesn’t compromise the needs of
generation
a) Past b) Present
c) Future d) None of these
14) Environmental degradation is caused by
a) Population b)  Urbanization
c) Industrialization d) All the above
15) The area which is gifted with plenty of bio diversity is called as
a) Gold Spot b) Cold Spot
c) Hot Spot d) Green Spot
16) The word bio-diversity is coined by .
a) Walter Rosen b) Norman Mayer
c) Johan Mayer d) Walter Disney

Write Short answers. (Any four out of six)
a) Whatis the effect of deforestation?

b) What is land pollution?

¢) Whatis water pollution?

d) Whatis air pollution?

e) Whatis sound pollution?

f) What is environment conservation?

Write Short Notes. (Any Two out of four)

a) Urbanization & environmental degradation
b) Depletion of Ozone layer

c¢) Green House effect

d) Deforestation

Broad answers question. (Any One)
a) What is environmental degradation? Discuss the relationship between
agriculture development and environmental degradation.
OR
b) What is environment pollution? Discuss the causes of environment pollution

Broad answers question.
What is land pollution? Discuss the causes of land pollution.

16

16

16

16
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M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination:
Oct/Nov-2023
Principles and Practice of Co-operation (MA24104)

Day & Date: Thursday, 11-01-2024 Max. Marks: 80
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M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination:
Oct/Nov-2023
Principles and Practice of Co-operation (MA24104)

Day & Date: Thursday, 11-01-2024 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16
1)  District Central Co-operative Banks arc the organization of
a) PACs b) SCBs
c) LDBs d) NABARD
2) Co-operative societies are type of organisation.
a) Genera b)  Special
c) Democratic d) None of these
3) are also known as ‘Agricultural and Rural Development Banks'.

a) Regional Rural Banks

b) Urban Co-operative Banks

c) Land Development Banks

d) Primary Agricultural Credit Co-operatives.

4)  The first Co-operative Act was passed in India in the year.
a) 1902 b) 1903
c) 1904 d) 1906
5) is one of the major problems of labour co-operative societies.

a) Financial weakness

b) Lack of sufficient work

c) Competition from private contractors
d) All of the above

6) The apex organization of all consumer co-operatives in India is

a) NAFED b) NABARD
c) NCCF d) SBI
7)  Co-operative marketing societies providing loans for farmers on the security
of .
a) land b) cattles
c) agriculture produce d) all of these
8) institution provides capital to Housing Co-operative Societies.
a) HUDCO b) LIC
c) HDFC d) all of these
9) Refaizon Institution was established to do
a) Loan supply to Farmers b) Loan supply to industries
c) Loan supply to Traders d) Loan to the organization
10) The First Land Mortgage Bank in India was started in province.
a) Punjab b) Madras
c) Mumbai d) Delhi
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11)  Afirst country to start co-operative credit movement in the world is

a) India b) ltaly
c) France d) Germany
12) The marketing Co-operative are suffering of problems from
a) Insufficient working capital b) Lack of trained personnel
c) Domination by traders d) All of the above
13) The first Co-operative land mortgage bank in India was started in
a) 1920 b) 1940
c) 1960 d) 1980
14) National Co-operative Housing Federation was established in
a) 1960 b) 1969
c) 1970 d) 1975
15) The agricultural Co-operative processing in India started in
a) 1901 b) 1904
c) 1917 d) 1925
16) In. 1964 the International Co-operative Allianes appointed a committee
under the chairmanship of for the restructuring of Co-operative
principles.
a) D.G. Karve b) S.T. Shankar
c) Dr.S.D.Rao d) P.B. Patil

Write short Answers. (Any Four)

a) What is mixed economy?

b) What is micro finance?

c) State the meaning of labour co-operative?
d) State two objectives of co-operation.

e) What is consumer’s co-operative society?
f)  What is short term loan?

Write answers the following questions. (Any Two)

a) Explain the capital structure of primary credit co-operatives.
b) Explain the objectives of consumer co-operatives.

c) Discuss about the problems of labour co-operatives.

d) Explain the kinds of housing co-operative societies.

Broad answers question. (Any One)

a) Discuss in detail the progress and problems of Agriculture co-operative
marketing societies.

b) Explain the Manchester Principles of Co-operation.

Broad answers question.
State the structure and problems of co-operative finance agencies in India.

16

16

16

16
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M.A. (Economics) (Semester - 1) (Old) (CBCS) Examination: Oct/Nov-2023
Financial Institutions and Markets (MA24106)

Day & Date: Friday, 29-12-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of Stencil is allowed.
4) Draw diagram whenever necessary.

Q.1 Choose the correct alternatives from the options. 16
1) is a selective method of credit control.
a) Bankrate b) Cash reserve ratio
c) Open market operations d) Moral suggestion

2) “To determine rate of interest demand for money is important than supply of
money” said by

a) Dr. Marshall . b) J.B. Say
c) J. M. Keynes d) Robertson
3)  The aim of Commercial Banks of credit creation is .
a) To get publicity b) To provide bank facility
c) To expand branches d) To get maximum profit
4) Bankrateisa instrument of credit control.
a) Qualitative b) Negative
c) Positive d) Quantitative
5) RBI was established in the year.
a) 1947 b) 1951
c) 1955 d) 1935
6) SBI introduced firstly Bank system.
a) Federal b) Central
c) Private d)  Merchant
7)  market provide short term and long term loan.
a) Goods b) Capital
c) Financial d) Money
8) The “Liquidity Preference Theory of Interest” is introduced by
a) J. M. Keynes b) Adam Smith
c) Dr. Marshall d) J.B.Say
9) E-Bankingis a banking.
a) ATM b) Internet
c) Commercial d) None of these
10) comes under unorganised sector.
a) Nationalized Banks b) Commercial Banks
c) Co-operative Banks d) Money Lenders
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11) Monetary Policy is implemented by Bank.
a) ICICI b) AXIS
c) Central d) State
12) The Nationalization of RBI was done in .
a) 1955 b) 1982
c) 1949 d) 1947
13) The note of Rupee is issued by the Government.
a) 10 b) 100
c) 01 d) 2000
14) The economists Hicks and Lerner develops the model of rate of
interest.
a) Classical b) Old
c) IS-LM d) New
15) The process of credit creation is done by .
a) State Bank b) Co-operative Bank
c) Central Bank d) Commercial Bank
16) In the developed financial system interest rates are determined by
a) The Government b) Money lenders
c) Free Market d) Central Bank

Write Short answers (Any Four)

a) Whatis financial intermediation?
b) Instruments of monetary policy.

¢) Whatis ‘E’ Banking?

d) Merits of Internet Banking.

e) Whatis core banking?

f)  Indicators of financial development.

Write Short answers (Any Two)

a) Structure of Financial System.

b) Financial System and Economic Development.
c) Classical theory of rate of interest.

d) Difference between lending and deposit rates

Broad answers question (Any One)

16

16

16

Discuss about the aims and objectives of monetary policy in developing countries.

OR
Explain the functions of Central Bank.

Broad answers question.
Explain the Keynesian Liquidity Preference Theory of rate of Interest.

16
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M.A. (Economics) (Semester - Il) (New) (CBCS) Examination:
Oct/Nov-2023
Micro Economic Analysis (MA24201)

Day & Date: Monday, 18-12-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw the neat diagrams wherever necessary.

Q.1 Fill in the blanks by choosing correct alternatives given below. 16
1) Modern Theory of rent has been put forward by
a) Dr. Marshall b) Bain
c) Smith d) Walras

2)  Keleck’s macro distribution theory is
a) Labour Value theory
b) Monopoly scale theory
c) Uncertainty and risk theory
d) None of these

3) Parato Optimality is concern with

a) Utilisation b) production
c) welfare d) None of the above
4) J.S. Bain developed his theory of limit pricing in an article publish in
a) 1947 b) 1948
c) 1949 d) 1950
5) explained interest in terms of purely monetary.
a) J.B.Clark b) Keynes
c) Fisher d) Knight
6)  According to Pigou economic welfare means
a) a part of social welfare b) a part of general welfare
c) a part of personal welfare d) None of these
7)  According to neo-classical theory the reward of a factor equals it
a) Average product b)  Total product
c) Marginal product d) Marginal cost

8) Insurance means
a) Risk pooling b) Risk spreading
c) Minimising risk and uncertainty d) None of these

9) According to a perfectly equal distribution of wealth will
maximize social welfare.
a) Pareto b) Pigou
c) Arrow d) Kaldor
10) The compensation principle was propounded by
a) Bergsan b)  Marshall
c) Kaldor-Hicks d) None of these
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11) Liquidity Preference theory of interest is concerned with
a) Credit money b) Demand for money
c) Capital d) None of the above

12) The entrepreneurs demand for a factor of production is governed by the

productivity of the factor.

a) Average b)  Marginal
c) Total d) None of these
13) The theory of division has to with the element.
a) Personal b)  functional
c) sectional d) general
14) Shumpter gives importance to the factor in his profit theory.
a) Risk b)  Uncertainty
c) Innovation d) All of the above
15) Kaldor-Hicks criterian is related with
a) National Income b) Per capita income
c) Welfare measure d) Compensation principle
16) A VC + AFC + Normal Profit is known for )
a) Full cost pricing b) Total cost
c) Marginal cost d) Average cost

Write Short Answers. (Any Four out of Six)
a) Whatis rent?

b) What is interest?

c¢) Whatis welfare?

d) What is information economics?

e) Whatis limit pricing?

f) What is compensation principle?

Write Short Notes. (Any Two out of Four)
a) Explain Quasi rent.

b) Explain the modern theory of wages.

c¢) Discuss the economics of search.

d) Explain Theory of second best.

Broad Answers Questions. (Any One)
a) Explain Baumol’s sales revenue maximisation model.
b) Discuss the Pareto’s optimality criteria.

Explain liquidity theory of interest.

16

16

16

16
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Seat
No.

Set

Day & Date: Tuesday, 19-12-2023

M.A. (Economics) (Semester - ll) (New) (CBCS) Examination:
Oct/Nov-2023
Economics of Growth and Development (MA24202)

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the Correct Alternative.

1)  WTO comes into exits in .
a) 1975 b) 1985
c) 1995 d) 2005
2) Monetary policy is designed by .
a) SBI b) CBI
c) IDBI d) RBI
3) is an instrument of monetary policy.
a) Bankrate b) Tax
c) Budget d) Public debt
4) is an instrument of fiscal policy.
a) Tax b) Bank rate
c) Transaction of debentures d) Cash reserve ratio
5)  Foreign direct investment is an important indicator of
a) Social development b) Cultural development
c) Economic development d) None of the above
6) TRIPS is related with
a) Intellectual property b) Tourism
c) Telecommunication d) None of the above
7)  TRIMS is related with
a) Production b) Distribution
c) Savings d) Investment
8) When the debt is raised from outside the country it is known as
public debt.
a) Internal b) Domestic
c) Foreign d) None of the above
9) is the characteristic feature of New Agricultural Technology.
a) Use of HYV seeds b) Use of chemical fertilizers
c) Multiple cropping d) All the above
10) is the outcome of implementation of New Agricultural Technology.
a) Green revolution b) Blue Revolution
c) White revolution d) None of the above
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Q.2

Q.3

Q.4

Q.5
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11) New Agriculture Technology leads to growth in agricultural
production.
a) Quantitative b) Qualitative
c) Objective d) None of the above
12) Sustainable agriculture means development of agriculture sector.
a) Eco friendly b) Techno friendly
c) Capital friendly d) None of the above
13) Agriculture and Industry are to one another.
a) Complementary b) Contradictory
c) Substitute d) None of the above

14) Industrilisation leads to
a) Employment generation
b) Expansion of trade
c) Optimum utilization of resources
d) All the above

15) Infrastructural development includes development of

a) Road b) Railway
c) Communication d) All the above
16) GATT is related with sector.
a) Agriculture b) Industry
c) Trade d) None of the above
Write Short answers. (Any four out of six) 16

a) Whatis meant by sustainable agricultural growth?
b) What is meant by appropriate technology?

¢) Whatis infrastructure?

d) Explain the choice of technique?

e) Whatis GATT?

f)  What are the instruments of monetary policy?

Write Short Notes (Any Two out of four) 16
a) Sustainable agriculture

b) New technology in agriculture

c¢) Objectives of WTO

d) Burden of public debt

Broad answers question (Any One) 16
Explain the use of new agricultural technology in agricultural sector.

OR
Explain the pattern of industrilisation in developing countries.

Broad answers question. 16
Explain the concept of appropriate technology.
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Economics of Environment (MA24203)
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Seat

No. Set | P

M.A. (Economics) (Semester - Il) (New) (CBCS) Examination:
Oct/Nov-2023
Economics of Environment (MA24203)

Day & Date: Wednesday, 20-12-2023
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Max. Marks: 80

Q.1 Choose the Correct Alternative. 16
1)  Waste lands are )
a) Dryland b)  Unproductive land

c) Ecological unsustainable d) Grassland

2) India ranks in world population.

a) First b) Second
c) Third d) Fourth
3) Eco-development means .
a) Economic development b) Ecological development
c) Economic growth d) Physical development
4) The term “Eco-system” was introduced by
a) Arthur Tansley b) Lewis
c) Ricardo d) J. Mills
5) Bio-gas is source of energy in .
a) Under developed country b) Developed country
c) European county d) Socialist country
6) Unfavorable alteration of our surrounding is known as
a) Pollution b) Industrialization
c) Urbanization d) Rationalization
7)  The salinity of soil increases due to :
a) Excess irrigation b) Lack of irrigation
c) Over grazing d) Change in cropping pattern
8) Increase in ultra violet radiation is caused by the depletion of layer
a) Ozone b) Oxygen
c) Hydrogen d) Nitrogen
9) Environmental protection act was passed in the year
a) 1976 b) 1986
c) 1996 d) 2006
10) Increase in Industrialization leads to pollution.
a) Increase b) Decrease
c) Minimization d) None of the above
11) ‘Prevention and Control of Water Pollution’ act is passed in in India.
a) 1964 b) 1974
c) 1984 d) 1994
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12) Forest conservation act is passed in in India.
a) 1980 b) 1976
c) 1986 d) 1996
13) is the unit for the measurement of intensity of sound.
a) Calories b) Celsius
c) Decibels d) None of the above
14) gas is responsible for Global warming.
a) Carbon dioxide b)  Sulphar dioxide
c) Hydrogen d) Nitrogen
15) The percentage of nitrogen in the atmosphere is
a) 0.03% b) 20.94%
c) 21.94% d) 78.09%
16) The percentage of hydrogen in the atmosphere is
a) 0.03% b) 20.94%
c) 21.94% d) 78.09%

Write Short answers. (Any four)

a) Whatis environmental degradation?

b) State any two causes of environmental degradation
¢) Whatis the cause of depletion of ozone layer?

d) What Is the effect of depletion of ozone layer?

e) Whatis greenhouse effect?

f) What is deforestation?

Write Short Notes. (Any Two)

a) Environmental degradation

b) Population growth & environmental degradation

¢) Agricultural growth & environmental degradation

d) Industrial development & environmental degradation

Broad answers question. (Any One)
a) What Is environmental degradation? Discuss the relationship Between
population growth and environmental degradation
OR

b) What Is environment conservation? Explain the methods of environment

conservation

Broad answers question.
Explain the environment policy of India

16

16

16

16
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M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
Oct/Nov-2023
Principles and Practice of Cooperation (MA24204)

Day & Date: Thursday, 21-12-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM
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No. Set| P

M.A. (Economics) (Semester - II) (New) (CBCS) Examination:
Oct/Nov-2023
Principles and Practice of Cooperation (MA24204)
Day & Date: Thursday, 21-12-2023 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative. 16
1) society provides refinance to co-operative banks.
a) NABARD b) NCDC
c) ICICI d) HDFC

2)  The main object of Schulze-Delitzsch societies was
a) To protect labourers
b) To fulfill the credit requirements of traders and middle class people
c) To protect poor people in rural area
d) None of these

3) Minimum members are essential to form co-operative society.
a) 8 b) 9
c) 10 d) 25
4) The headquarter of RBI is situated at .
a) Kolkata b) New Delhi
c) Hyderabad d) Mumbai
5)  The first co-operative Act in Germany was made in
a) 1867 b) 1880
c) 1890 d) 1895
6) The Raffaiesen Union was established in )
a) 1805 b) 1860
c) 1877 d) 1892
7)  Dairy Co-operatives in Denmark are based on .
a) Unlimited liability b)  Limited liability
c) Uncertainty d) Risk

8) According to 1904 act, the development responsibility of co-operative
movement was given to

a) State government b)  Central government
c) Local self government d) None of the above
9) is a function of Co-operative Department.
a) Supervision and legislation b) Administration
c) Financial Support d) All of these
10) As per 1960’s Co-operative Act the Audit Report of the Co-operative society
submitted to the every year.
a) Government b)  Chief Minister
c) Co-operation Minister d) Registrar
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11) Moshav Shitufi is related to

a) England . b) China
c) lIsrael d) Japan
12) Shivajirao Patil Committee submitted its report to the government in
a) 2005 b) 2006
c) 2008 d) 2009
13) is problem of Dairy Co-operatives in Maharashtra.
a) Transportation b) Lack of capital
c) Milk prices d) Allof these
14) The industrial co-operative movement in china was exclusively the result of
the .
a) First World War b) Capitalist movement
c) China-Japan war in 1937 d) Natural disaster
15) The head office of NABARD is located at
a) Chennai b) Pune
c) Hyderabad d) Mumbai
16) B.B. Mahajan Committee is associated with
a) cotton b) milk
c) sugar industry d) labour
Write short Answers. (Any Four out Six) 16

a) Define service co-operative society.
b) State the objectives of NABARD.

¢) Whatis globalisation?

d) What is co-operative farming

e) Whatis audit?

f) State the objectives of KVIC?

Write answers the following questions (Any Two) 16
a) Explain the professionalization of co-operative management.

b) State the importance of co-operatives in planning.

c) Explain the features of dairy co-operative movement in Denmark.

d) Discuss about the functions of the co-operative department.

Broad answers question (Any One) 16
a) State the main recommendations of Shivajirao Patil Committee.
b) State the role of government in co-operative movement.

Broad answers question. 16
Discuss the role of RBI in financial support to co-operatives.
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Macro Economic Analysis (MA24301)

Day & Date: Friday, 05-01-2024 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

QA < 1) Fd g AER e,
2) ITdIbel 3 Yol [oT SeIfIara.

U1 I g fasa aeg g fore. 16
1) UGB HhHeus FaugH ——— Ji=T aTavel,
) o d ¥ §) O UH
®) AR Th. B8 SEEINE]
2) R I B fIR¥re auid vErear Qg Sdred Siefedl ——
o RIS B
31) ARTOfl g qRaer §) I g Hdl
F) U T TG S) Smard g i
3) HARIe™ FHIHIU U] ———.
3) M=KR g) M=KY
%) M=KM §) M=KT
4) 1S T TIEAA STl ——.
) FHdIA C)ICEIREY
@) FRUTHD 3) T Y@t A
5) oIl A Rigid —— I ArSe.
J) B 9 R q) Reg—a4
®) AR—cIfad 3) T Y@t A
6) Silad =h IU~ BIdd ——— SUHNTIC 3MPpeilae] WL B,
3) ™IS q)  HIR
%) dafddd g) T
7) RUeT IO T[EIAd 7 [UERT M7 I AT QB —— Fae
ENIEGH
1) TRER faRER 9)  yAEOER
@) FHAA ) D! ATl
8) faffmy A A1 draiges U=mar ARTON Ad 3y HIvl Hiffrdal.
3)  FATaAdTE §)  TAI—FATIAITEAT
®) dodral faardd S) e AT

Page 1 of 5



.2

10)

11)

12)

13)

14)

15)

16)

SLR-AQ-20

——— YT AIYAId] AR TR ATl 3Rl

3) WIS QU Feq~ 9) TR AL Ia=
) Mas I S T) WS MY I
HMASTD oIl Yegell SUGde Oxdl.

) anfdfe RS q) ARG GROTATS
F) PRIATIDH LROTATS! ) MG SRS
dHex & —— TG AT 3Te.

3) H&ATHSD q) OIS
EDRESED SERCIRED

Ul A HIRIEHT 81 —— Hhoul 3ATe.

%) el q) yarg

®) THRIHAD S) THRHAD

——— 9 S A UNT JET RO,

3) W U 9) @ue O

%) AU €) U U

gl eHR SrfeReIT I I~ AhIbR TdTeTd U ——
I ST WR U=,

3) HiSdell & 9) 9ufdvg &=

) ARDN & SEENGESE!

ARG 2R Ugaed I Sca=TreaT fReiardl g —— ugdl o7,
3N AHIEReT 29 ugh 9) g Aol R ugd

@) et yarg feee ugd ) WA
M1 FHea=d ——— T TATIST & T8l

3) Had Sdl

9) uURc Siffh wefial 99 usdr=r Sl

%) Rerd dpdid AR 341

) WA A4

Jreqra feur forer. (Pl 9r) 16

3)
9)
®)
3)
3)
3)

TR I~ W< B

Hcdh Wdiay GNP
T T[T,
IS Ih 3T LM dsh T&UTol Iy ?

HETITS

ATUe] Ia~ I,

Page 2 of 5



SLR-AQ-20
U3 disqd SR forel (@IUaEl ]F) 16
J) AUl WA BIISTHAT T B,
) e AnTofier Saer Rigla a1 ame?
®) R I~ TEIdD HheUT W BN,
§) hfor 9% = Ba? UGB (hicT=d Ihrdl MHR T .

U4 SERR 9T (PIUCTET UH) 16
) TER IOFTAT AHINNG GG Tgell T el

§) SO AHIHR FATE ool B AR fgdha—a=, Ja—er=g AT
FgL—eT Fheu e STl ThIhR HdT8 T DI,

U5 STErR 99 16
H=TAT STIRTATIS AR RIgd T HR1 T SYHNET BoA- Tl
ITIETRS SUIRT T

Page 3 of 5



SLR-AQ-20

Seat

No. Set | P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2023
Macro Economic Analysis (MA24301)

Day & Date: Friday, 05-01-2024 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite the following sentences by choosing the correct alternatives from 16
those given below:
1)  The concept of multiplier is firstly used by

a) J.B. Say b) J. M. keynes
c) R.F.Kahn d) Dr. Marshall
2) National Income means money value of product in a year.
a) Demand and supply b) Goods and Services
c) Income and production d) Import and export
3) Marshall’s equation is )
a) M=KR b) M=KY
c) M=KM d) M=KT
4) s curve is sloped
a) Horizontal b) Positive
c) Negative d) None of these
5)  Modern theory of interest is given by :
a) Hicks and Lerner b) Hicks and Keynes
c) Keynes and Hicks d) None of these
6) Life-cycle hypothesis explains the consumption patterns of
a) Society b) Rich people
c) Individuals d) Poor people
7)  Absolute income hypothesis shows the relationship Consumption and Income.
a) Inverse b)  Proportional
c) Equi-proportional d) None of these

8) Who emphasized the demand for money is generated due to the function
medium of exchange?

a) Classical b) Neo-classical
c) Monetarist d) None of these
9) Depreciation is more important at the time of calculation of
a) Gross Domestic Product b) Gross National Product
c) Net National Product d) None of these
10) Social Accounting methods are useful
a) For economic policy b)  For fiscal policy
c) For tax policy d) For social policy
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11) Bank rates are a tool for credit control.
a) Numerical b) Qualitative
c) Selective d) Economics
12) The marginal efficiency of investment is concept.
a) Stock b) Flow
c) Negative d) All of the above
13) is also called High Power Money.
a) Narrow money b) Broad money
c) Credit money d) None of above
14) The circular flow of national income in the four Sector Economy mainly
adds to the :
a) Capital Sector b)  The rest of the world
c) Government Sector d) All of the above
15) Social accounting is the main method of calculating national income.

a) Equation entry Account

b) Double entry Account system
c) Flow of founds Account system
d) All of the above

16) M1 concept does not include )
a) Term Deposits b)  All types of post office
c) Other RBI deposits d) All of the above

Write short notes: (Any Four)
a) Explain the National income
b) GNP at factor cost

¢) Money multiplier.

d) Whatis IS curve & LM curve?
e) Inflation

f) Absolute income hypothesis.

Short answer types questions. (Any Two)

a) Explain the Marginal Efficiency of investment.

b) What is Keynesian theory of demand for money?

c¢) Explain the Permanent income hypothesis.

d) What is Philips curve? Explain the shape of Philips curve in short period.

Write answer the following (Any One)
a) Explain the methods of social accounting of National Income.
OR
b) Whatis circulation flow of income? Explain the circular flow of income in two
sector, three sector and fourth sector model.

Answer the following question.
Explain Keynes’s theory of consumption psychology and its practical application
of consumption function.

Page 5 of 5

16

16

16

16



SLR-AQ-21
Seat
No. Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2023
Public Economics (MA24302)

Day & Date: Sunday, 07-01-2024 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

I ;1) U AR e,
2) ITdIBSId 3 Yol T[oT Seifddra.

U1 A g ey Rerar S R 16
1) e A4 e e amed IR —— T gordel! arfaor.
3) fhAE q) P
) AEwaqol 3) WAYD! AT
2) ARFAFIRAT arcuTEl TR ARER—IT —— o5 AT g
1) SUel&rdm 9) SATEHT
®) gfHosdr ) WRIAID] AR
3) RA AN AS@rdl SMYAT —— I7 I81 STl
1) 1947 d) 1950
P) 1951 g) 1955
4) AESS GY WSl QU —— ST detell T9 8.
3) bw q)
®) WRAHH g w4
5 A IR —— BRI Aol SIal.

31) U facaTges WAL BIOMRT N
9) N RAe FHRIEG I 918
&) B I T8l

) ol TE T

6) IIII ReRIHRUMAS! B I —— TThaR WX e,
3) IATAYID q) XA
®) dqED S) WAYD! AT

7) IR SAAMATA 81 Hhoddr —— Il HiSell.
3) Hbelit q) W=
®) TrTforest SICNICECI ISR

8) ETRA efbed € Ugedl 1970 A —— T fABRIT Heil.
3N) B §) Uler U UER
CORCIENLE S) waAEd g

9) —— T IIRGIAT WIal HHI BRGNS IUTTATIT TR,
3) ArmaEr R q) IORTR AR
F) ST 18 3) WATDd! |d

Page 1 of 5



.2

U3

SLR-AQ-21
10) PR R FHAUTH AETeh Rigid —— I HlSal.

) AAhes I HIRS §) R
®) Rerei ) o
11) &R HHAT YOI SMAAR Sl IR UIeT B ARG ATl ——— FEUTT.
J) BN FhHUT ¥) P IR
) PR ATETT €) R A

12) =0 UL QL. 3iiEn FREHd d]e ael U”e RISl AT BRI HHId
PH —— SR hoiol Heredr urfaoid.

31) 2100 d) 2500
) 2250 S) 1550
13) FATIHATGT IS 3feH RAY BT IRfaaveiiel IReRAT gwieuredl
g —— B,
3) TR 9  IgRd
@) Ulddhe ) IS AR
14) —— IEAT ISIRUCHE YIRS Td IS,
S IICNIREY q) "o
Eﬁ) TOTTcHD 3) AT
15) 3Mff &1 9 fhAa UTacdid W IREuaRATET —— &RoT Agward o,
31) ReRIaRur q) Tod fawad
®) A S)  IUBT AR
16) TRITHBAT & —— TR IR 372,
31) @Iorf q) oIS
®) TUIHE T) mhie
Gl d! DTS IR T4 Sax forar, 16

J)  AEGHd IR BN BY?

qd) BN Th B Hee W Hdl.
®) T I DIVRIE] QI IaTSROT FT.
€ Reieur Aril =orel Hra?

3) QRS BN Y

3) TR B BRI?

Glellel WA SR forel. (@vrardl |99) 16
J) A RGN qIEIAT T BRI

§) OIS FHAId 9 AR AT IredtaR @@l B,

$) AGod G 16 T B,

) URRie FHdId Hawd W B,

Page 2 of 5



SLR-AQ-21

U4 Tlelleia) DIVITE! YT T SR foral. 16
)  UqgE AMNSTe LIiavdl AfdwR ==l B,
§) cArmenerEr e g W o,

U5 Weid e ST fora. 16
fAs1 Sreleraveldial STl YAdhaR Tl B,

Page 3 of 5



SLR-AQ-21

Seat
No. Set| P
M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2023
Public Economics (MA24302)
Day & Date: Sunday, 07-01-2024 Max. Marks: 80

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

Q.1 Fi
1)

2)

3)

4)

5)

6)

7)

8)

9)

2) Figures to the right indicate full marks.

Il in the blanks by choosing correct alternatives given below. 16
According to J.M. Keynes Government has to play role in the
process of economic development.

a) Minimum b) Less

c) Vital d) None of the above
Problem of allocation of resources arises due to of resources.
a) Availability b) Productivity

c) Scarcity d) None of the above
Planning Commission was established in India in the year

a) 1947 b) 1950

c) 1951 d) 1955

Public expenditure means a expenditure incurred by government of a
country.

a) Central b) State

c) Local d) All

Real money burden is known as .

a) Sacrifice of satisfaction due to money payment.

b) Enhancement of satisfaction due to money payment.
c) Nonpayment of tax.

d) GST
Keynes emphasizes on factors for stabilization of the economy.
a) Monetary b) Fiscal
c) Technical d) None of the above
The concept of informational assymetry is propounded by
a) Akerliff b) Spenze
c) Stieglitz d) All of the above
The zero base budgeting system is developed by in 1970.
a) Keynes b) Peter A. Pyhrr
c) Wiseman d) Manmohan Singh
is a remedial measure of poverty alleviation.
a) Population Control b) Employment generation
c) Torise inincome d) All of above
10) Modern theory of shifting of tax burden is explained by
a) Mansfield and Canard b) Marshall
c) Ricardo d) Pigue
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11) A person who is paying the tax actually after completing shifting
processing is called

a) Tax shifting ' b) Tax Burden
c) Taxincidence d) All above
12) According to shri. P. D. Oza everyday every individual should get
at least calories through his meal.
a) 2100 b) 2500
c) 2250 d) 1550
13) Classical Economist Adam Smith was of interference of Government
in Economy.
a) Neutral b) Favour
c) Infavour d) None of above
14) The principal of exclusion exist in the market of goods.
a) Public b) Private
c) Merit d) Social
15) To keep economic growth stable with price levels policy is important.
a) Stabilization b) Monetary
c) Neutral d) None of these
16) Competitiveness is a feature of goods.
a) Private b) Public
c) Merit d) Social

Write short Answers. (Any Four out Six)
a) Whatis public goods?

b) Laffer curve explains which relationship?
¢) Write any two example of club goods?
d) What is stabilization policy?

e) Whatis poverty?

f) Whatis tax burden?

Write answers the following questions. (Any Two out Four)
a) Explain the externalities of public goods.

b) Discuss on the social balance and allocation of resources.
c) Explain the growth of public expenditure.

d) Explain the importance of regional balance.

Broad answers question (Any One)
a) Discuss in details about the major social goals
b) explain the economic theory of Democracy.

Broad answers question.
Discuss on the role of Government in mixed economy.
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Seat
No.

Day & Date: Tuesday, 09-01-2024

Oct/Nov-2023
Research Methodology (MA24303)

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q.1 Choose the correct alternative from the following options.

1)

2)

3)

4)

5)

6)

7)

8)

9)

The first page of the research report is
a) Appendix b) Bibliography
c) Index d) Title Page

Why do you need to review the existing literature?

a) To make sure you have a long list of references

b) Because without it, you could never reach the required word-count
c) Tofind out what is already known about your area of interest

d) To help in your general studying

The first purpose of a survey is to
a) Description b) Evaluation
c) Provide Information d) None of the above

SPSS is an acronym of the

a) Statistical Predictions for Social Sciences

b) Sensex Preference for the Sixties and Seventies
c) Statistical Package for the Social Sciences

d) None of these

The choice of research subject depends mainly on
a) On its relevance

b) On available funds

c) Interest of the researcher

d) On the availability of bibliography

All concepts are

a) Visible b) Invisible
c) Useless d) None of these
Stratified random sampling is a type of sampling.
a) Probability b) Non-probability
c) Simple random d) Convenient

is the last step of the social research.
a) Report writing b) Sampling
c) Formulation of problem d) Data collection
According to Goode and Hatt is fundamentally a process of social
interaction.
a) Observation b) Concept
c) Hypothesis d) Interview

Set | P
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10) To erase the statement of any theory is the object of the hypothesis.
a) Working b) Null
c) Statistical d) Research
11) Field work data is called data.
a) Secondary b) Primary
c) Third d) None of the above
12) Atleast persons are required for interview.
a) One b) Two
c) Three d) Four
13) Research is process that goes on for .
a) Short term b) Longterm
c) Temporary d) Seasonable
14) is the field that recognized as the major field of research.
a) Personal question b) Social question
c) Interpersonal question d) None of the above
15) Researcher on the primary data.
a) Total control b) No control
c) Partial control d) None of the above

16) Characteristics of case study is
a) Intensive study of the problem
b) Study of more social units
c) Qualitative study
d) All of above

Write Short Answers. (Any Four)
a) Whatis Research'?

b) What is the historical research?
c¢) What is objectivity?

d) What is research problem?

e) Whatis concept?

f) State the contents of report.

Write answers the following questions. (Any Two)
a) Explain the types of sampling method.

b) Explain the sources of Hypothesis.

c) Explain the objectives of research.

d) Explain the Interview method.

Broad answers question. (Any One)
a) What is questionnaire? Explain the merits and demerits of questionnaire.
b) Write on meaning and types of research design.

Broad answers question.
State the characteristics of good report writing.

16
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Seat
No.

Day & Date: Thursday, 11-01-2024

Oct/Nov-2023
Labour Economics (MA24304)

Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.

Q.1 Rewrite the following sentences by choosing the correct alternatives from

2) Figures to the right indicate full marks.

those given below.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

In 1948, the Act for Workers was passed.
a) Minimum Wage Act b) Relative Wages Act
c) Bonus Allocation Act d) None of these
This is the main cause of unemployment.
a) Population growth b) Low rate of capital formation
c) Recession d) Above all
Bonus Allocation Act was enacted in .
a) 1965 b) 1955
c) 1960 d) 1950

is the main feature of the minimum wage.
a) Ban on economic exploitation of workers
b) Prohibition of unethical competition
c) Increase in labor efficiency

d) Above all
is the benefit of the profit sharing scheme.
a) Increased efficiency b) Corruption
c) Delays d) All of the above
This is the limit of the profit sharing plan.
a) Delays in allocation b) Uncertainty
c) Lack of coordination d) All of the above
Labour market is market.
a) Perfect b) Imperfect
c) Monopoly d) Monopolistic
is a feature of the labor market.
a) Local appearance b) Incomplete market
c) Lack of mobility d) All of the above

Physical and mental effort or action taken by human beings to get some
financial reward other than happiness is defined as labor

a) Dr. Alfred Marshall b) Johannes

c) David Record d) None of the above
is the factor that determines the supply of labor.

a) Population growth b) Government policy

c) Wage levels d) All of the above

Set| P
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11) This is a form of labor mobility.
a) Geographical Mobility b) Economic Mobility
c) Political Mobility d) All of the above
12) is the reason why workers in India are inefficient.
a) Adverse weather b) Low wages
c) Overtime d) All of the above

13) The wages which will enable the workers to provide food, clothing, shelter,

frugality, rest and in times of crisis are

a) Life wages b) Minimum wages
c) Cash wages d) Real wages
14) The major obstacle to business mobility is understood.
a) Education b) Lack of information
c) Corruption d) All of the above
15) The Bonus Commission Report was submitted to the Government in 1964
under the chairmanship of , and the Bonus Allocation Act came into
existence after the recommendation of the same report.
a) M. R. Meher b) Dhananjay Gadgil
c) Mehta d) None of These
16) Information on the nature and estimation of unemployment in India is
published by .
a) Planning Board b) State Exchange Center
c) Census Report d) All of the above

Write Short Answer. (Any Four)

a) What is meant by frictional unemployment?

b) What is meant by cyclical unemployment?

¢) Whatis meant by subsistence wages?

d) Explain any two types of unemployment.

e) Explain the relationship between wages and the productivity of labour.
f) Write any two causes of low productivity of Indian workers.

Write Short Notes. (Any Two)

a) Employment and development

b) Impact of rationalisation on employment in agriculture
c) Educated unemployment

d) Methods of recruitment in India

Broad answers questions. (Any One)

a) Whatis labour market? Explain the imperfection in the labour market.
OR

b) What is wage rate? Describe the process of wage determination.

Broad Questions.
Explain the classical theory of wage determination.
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Seat
No. Set| P

M.A. (Economics) (Semester - lll) (New) (CBCS) Examination:
Oct/Nov-2023
Agricultural Development of India (MA24305)

Day & Date: Thursday, 11-01-2024 Max. Marks: 80
Time: 11:00 AM To 02:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Fill in the blanks by choosing correct alternatives given below. 16
1)  The Rural Electrification Policy-2006 was aimed at provisioning electricity
to all households by .

a) 2012 b) 2009
c) 2017 d) 2020
2)  WTO works to promote
a) Grant b) Internal trade
c) International trade d) Transportation
3) The Globalization Policy in India was started in )
a) January 1975 b) January 1985
c) January 1991 d) January 2001
4) aims at the abolition of intermediaries and bringing the actual
cultivation in direct contact with the state.
a) Land productivity b)  Labour productivity
c) Land reforms d) Land development
5) The Government setup National Seeds Corporation in
a) 1954 b) 1963
c) 1974 d) 1983
6) Rural Electrification Corporation founded in
a) 1959 b) 1969
c) 1981 d) 2001
7)  The share of agricultural sector in GDP of India is in post
independence period.
a) Increasing b) Stagnant
c) Decreasing d) None of these
8) has the highest share in irrigation in India.
a) Tanks b) Canals
c) Wells and tube wells d) Other sources
9) The size of economic holding depends on
a) The fertility of soil b) method of cultivation
c) Nature of crops d) All of the above
10) During eleventh five year plan the target of agricultural growth was set at
%.
a) 2 b) 4
c) 9 d) 10
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11) is @ major reason of land degradation.
a) Soil conservation b) Agriculture
c) Deforestation d) Bio-gas
12) states most benefitted with Green revolution in India.
a) Kerala, Bihar, Assam b) Panjab, Haryana, U. P.
c) Karnataka, M.P., Kerala d) Maharashtra, Karnataka, A.P.
13) unemployment is found in agriculture sector.
a) Disguised b) Under employment
c) Seasonal d) All of the above
14) is the father of Indian Green Revolution.
a) Dr. M. S. Swaminathan b) Dandekar and Rath
c) P.D.Qjha d) Dr.V.K.R.V.Rao
15) land tenure system was existing before independence.
a) Rayatwari b) Mahalwari
c) Zamindari d) All of the above
16) The soil salinity is increased in India due to .
a) Poverty b) Famine
c) Use of excess irrigation d) Explosion of population

Write short answers. (Any Four)

a) Define the soil conservation?

b) Write any two demerits of contract farming.

c) State any two objectives of land reforms in India?
d) Whatis agricultural policy?

e) Whatis cropping pattern?

f)  What s blue revolution?

Write answers the following questions. (Any Two)

a) Explain the impact of new agriculture technology on employment.
b) Discuss on benefits of minor irrigation.

c) Explain the organic forming.

d) Discuss on feminization of Indian agriculture.

Broad answers question. (Any One)

a) Describe the features of green revolution in India.

b) Whatis land productivity? Explain the reason of low productivity of Indian
agriculture.

Broad answers question.
Explain the impact of W.T.O. on Indian agriculture.

16

16

16

16
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2023
Macro Economic Analysis (MA24401)

Day & Date: Monday, 18-12-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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Seat
No. Set| P
M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2023
Macro Economic Analysis (MA24401)
Day & Date: Monday, 18-12-2023 Max. Marks: 80

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative from the following options. 16

1)

2)

3)

4)

5)

6)

7)

8)

9)

Affording to Keynesians, it is not possible to increase production to meet the
growing demand, because

a) War period

b) Planning period

c) New inventions and technological progress

d) All of them

The monetary approach was supported by

a) Milton friedman b)  Patkin

c) Jordan d)  All of them

Analytics Analytical Aspect of Anti Inflationary Policy This research paper is
related to

a) Samuelson - Solo b) Keynes

c) Friedman -Tobin d)  Fisher - Patkin

The concept of expected growth rate is related to

a) Hicks b) Fisher

c) Friedman d) Schumpeter
“Fisher’s equation is not wrong, they need to be restructured,” said.
a) Keynes b) Friedman

c) Bamol d) J.B. Say

The concept of rational expectation was first proposed by

a) John F. Muth b) Robert Lucas

c) Thomas Sergeant d) None of them

The Post Keynesian approach to demand for money is related to
a) Bamol b) Tobin

c) Patinkin d) All of the above

The concept of kinked Phillips curve was proposed by

a) Phillips b)  Friedman

c) Patinkin d) Tobin

The expansion of monetary policy is

a) Increase in money supply and reduction in interest rates.
b) Decrease in money supply and increase in interest rates.
c) Reduction in money supply and interest rates

d) Increasing money supply and interest rates.
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10) The concept of Demand-Pull Inflation’” was introduced by

a) J. M. Keynes b) Dr. Marshall
c) Prof. Pigu d) Prof. Bamol
11) is referred to as monetarist.
a) Keynes b)  Milton Friedman
c) Mundell-Fleming d) Patinkin
12) In an unchanging paper currency system the exchange rates are
a) Variable b) Decreases
c) Stable d) None of them

13) The rate which is determined by the balance between the demand for the
currency in the foreign market and the total supply of the currency is called .

a) Variable exchange rate b) Stable exchange rate
c) term exchange rate d) None of them
14) Capital inflows and outflows in different countries do not mean of
capital.
a) Zero mobility b) one mobility
c) less than one mobility d) more than one
15) The policy of increasing public expenditure and tax deduction is
a) Fiscal Policy b)  Monetary Policy
c) Expansion of Fiscal Policy d) Expansion of Monetary

16) According to Milton Friedman, the factor influencing the demand for money
is .
a) Ownership of other assets
b) Price of the property
c) Compensation from property
d) All of the above

Write short answers. (Any Four) 16
a) What is Warranted rate of growth?

b) What is meant by natural rate of unemployment?

c) What is open economy?

d) Which is the motive that causes people to hold money according to Baumol?

e) Philips Curve reveals the relationship between which factors?

f) What s inflationary gap?

Write short answers. (Any Two) 16
a) Baumol’s Inventory Theoretical approach

b) Monetary approach to inflation

¢) Real balance effect

d) Short run Philips Curve

Write answer of the any One of the following. 16
a) Explain the New Classical Approach towards macro economics and policy
implications.

b) Explain the Tobin’s model of demand for money.

Explain the Friedman’s theory of demand for money. 16
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M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2023
Public Economics (MA24402)

Day & Date: Tuesday, 19-12-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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Seat
No.

Set

Day & Date: Tuesday, 19-12-2023

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2023
Public Economics (MA24402)

Time: 03:00 PM To 06:00 PM
Instructions: 1) All questions are compulsory.

Q.1 Fi
1)

2)

3)

4)

5)

6)

7)

8)

9)

2) Figures to the right indicate full marks.

Il in the blanks by choosing correct alternatives given below
In the following which is the characteristic of a tax?
a) Compulsory b) Optional
c) Forced d) Nationality

The Indian tax system is
a) Proportional b) Progressive
c) Regressive d) None of these

The burden of direct taxes is borne by

a) Rich person b) Poor person

c) onwhom itis levied d) None of these

In proportional tax system, the rates of tax remain

a) constant b) increasing

c) decreasing d) zero

Which of the following is the major source of revenue in India
a) Direct tax b) Capital Levy

c) Grantsin aid d) Indirect tax

A duty levied on goods when they entering a town

a) Income tax b) Octroi

c) Agricultural tax d) Professional tax
The largest component of revenue expenditure in India is

a) Pension b) Interest payments
c) Education d) Health

The Classical economists asserted that public expenditure is
a) Unproductive b) Productive

c) Stagnant d) All of these

The debts which the government promises to pay off at a specified
date are called

a) Irredeemable deb;ts b) Funded debts

c) Redeemable debts d) Unfunded debts
10) Short-period debts are called as )

a) Unfunded debts b) Funded debts

c) Redeemable debts d) None of these
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11) The finance commission is appointed every

a) 3years b) 5 years
c) 6years d) 7 years
12) Which of the following is a measure of fiscal policy?
a) Public expenditure b) C.R.R.
c) S.L.R d) Bankrate
13) The First Finance Commission was appointed in the year
a) 1949 b) 1950
c) 1951 d) 1952
14) Fiscal policy is the policy of
a) RBI b) NABARD
c) Government d) Allthe above
15) Which is the method of financial adjustment between Centre and States?
a) Tax sharing b) Grant-in-aid
c) Public debt d) Federal Finance
16) Who is the author of the book “The Theory of Public Finance”?
a) Dalton b) R A Musgrave
c) A.R.Prest d) Harvey Rosen

Write short answer (Any Four)

a) Non tax revenue of state governments
b) Goods and service Tax

c¢) Classification of public debt

d) Income tax

e) Burden of public debt

f) Fiscal federalism in India

Answer the following Questions (Any Two)

a) Explain the Role of fiscal policy in economic development.
b) Explain the Causes of growth in public expenditure in India.
c) Explain the Classical view of public debt.

d) Discuss the Centre-state financial relationship in India.

Answer the following question in detail (Any One)

a) Critically examine the role of finance commission in allocation of resources
between Centre and States.

b) Discuss the various sources of public debt.

Answer the following question in detail.
Critically examine the recommendations of 13th finance commission.

16

16

16

16
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Seat
No. Set| P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2023
Labour Economics (MA24404)

Day & Date: Wednesday, 20-12-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM
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Seat
No.

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2023
Labour Economics (MA24404)

Set

P

Day & Date: Wednesday, 20-12-2023 Max. Marks: 80

Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Rewrite the following sentences by choosing the correct alternatives
from those given below.
1)  The problem of women workers in India is

a) Low wages, b)  High working hours,
c) Moral collapse d) All of the above
2) The employee’s is introduced in 1971.
a) Family pension scheme b) State insurance act
c) Provident fund act d) Minimum wages act
3) act has come into existence in 1948.
a) Minimum wages act b) State insurance act
c) Provident fund act d) Family pension scheme
4) The effects of globalization on labor are
a) Labour reduction b) Employment uncertainty
c) Voluntary Retirement d) All of the above
5)  Social insurance is meant to help in times of social tragedy and
difficulty.
a) Economics b) Political
c) Necessities d) All of the above

6) Due to labor welfare reforms in India
a) Increase in the presence of workers
b) Improvement in industrial relations
c) Increase in the efficiency of workers
d) All of the above

7) The Labor Act was enacted to protect child labor in India.
a) Labour Act 1948 b) Mine Act 1952
c) Child Employment Act 1938 d) All of the above

8) The comprehensive concept of social insurance includes
a) lliness b) Accident
c) Unemployment d) All of the above

9) The principles of labor welfare include
a) Appropriate wages
b) Respect the sentiments of the workers
c) For the convenience of the workers
d) All of the above

10) The factor responsible for the problem of child labor is
a) Low wage b)  Plus hours of work
c) Lack of facilities d) All of the above

16
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11)  The reason for the backwardness of women workers is
a) Misconceptions about female workers
b) Weak physical ability
c) The decline in women's welfare facilities
d) All of the above
12) The benefit from social insurance is received by the insured person as
a) Rights b) Empathy
c) Duty d) None of the above
13) This organization is involved in labor welfare work in India.
a) Central Government b) State Government
c) Labour Union d) All of the above
14) The problem of child labor in India is of a mixed nature.
a) Social and economic b) Political and cultural
c) Rich and Poor d) None of the above
15) Improving working conditions means .
a) Clean b) Air plays
c) Lighting d) All of the above
16) The principle of Strengthening trade union is
a) One union in one industry b) Few unions in one industry
c) Many unions in one industry d) None of the above
Write Short Answer. (Any Four) 16
a) Whatis conciliation?
b) Whatis meant by safety nets?
c) Explain the problems of female labour in India
d) Whatis labour welfare?
e) Explain the four of joint management council
f)  Explain any four functions of trade union
Write Short Notes. (Any two) 16
a) Arbitration
b) Labour legislation in India
c¢) Voluntary Retirement Scheme
d) Causes of industrial dispute in India
Broad answers question. 16
a) Whatis Trade Union? Discuss the various problems of trade union in
India.
OR
b) Critically examine the trade union movement in India.
Broad answers question. 16

Discuss the problems of child labour in India.
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Seat
No.

Set

Day & Date: Wednesday, 20-12-2023

Time:

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2022
Agricultural Development of India (MA24405)

03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.

Q.1

2) Figures to the right indicate full marks.

Fili in the blanks by choosing correct alternatives given below.
1)  The Regulated market is controlled by

a) Banks b) Industrialists
c) Market Committee d) None of these
2) In agriculture sector production function of
a) Increasing b) Decreasing
c) Constant d) Negative
3) In 1980 programme was started.

a) Integrated Rural Development Programme
b) Javahar Rojgar Yojana

c) Drought Prone Area Programme

d) Employment Assurance Scheme.

4) Indian Council for Agriculture Research was established in

a) 1929 b) 1940
c) 1950 d) 2010.
5) The first Land Mortgage Bank in India was started in
a) 1918 b) 1919
c) 1914 d) 1920
6) Regional Rural Banks in India started in
a) 1969 b) 1978
c) 1974 d) 1975
7)  Food Corporation of India established in
a) 1960 b) 1961
c) 1965 d) 1967
8) NAFED was established in
a) 1950 b) 1958
c) 1960 d) 1965
9) National Rural Employment Guarantee Act was passed in
a) 2000 b) 2010
c) 2005 d) 2014
10) The structure of co-operative finance in India is
a) Two tier b) Three tier
c) Four tier d) All of the above.

P

Max. Marks: 80

16
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SLR-AQ-28

11) The minimum support price are recommended by

a) CACP b) NABARD
c) NAFED d) NCDC
12) Generally technique of production is used in agro
industries.
a) Labour intensive b) Capital intensive
c) Imported d) None of these.
13) is a major feature of agriculture labour.
a) More literacy b) Less wage
c) Organized d) All of the above.

14) The aim of Buffer Stock Policy of the government is
a) Industrial development b) Rural development

c) Price stability d) None of the above.
15) Agro-processing industries includes .

a) Textile b)  Sugar industry

c) Fruits processing d) All of the above.
16) unemployment is found in agriculture sector.

a) Disguised b)  Frictional

c) Cyclicant d) None of the above

Write short Answers. (Any Four)

a) Write the full form of AGMARK.

b) What is food security?

¢) Whatis marginalization of agricultural labour?
d) Define future trading.

e) Whatis long term loan?

f)  What is regulated markets?

Write Short Notes (Any Two)

a) Characteristics of agricultural labour.
b) Role of NAFED.

c¢) Farmer’s indebtedness.

d) Male-female wage difference.

Broad answers question. (Any One)

a) Discuss the problems of agio-industries and measures for development
of agro-industries in India.

b) Explain the agricultural price police in India.

Broad answers question.
Discuss the National Rural Employment Guarantee Scheme 2005.

16

16

16

16
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No. Set | P

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:
Oct/Nov-2023
International Trade and Finance (MA24406)

Day & Date: Thursday, 21-12-2023 Max. Marks: 80
Time: 03:00 PM To 06:00 PM

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative: 16
1)  The concept of balance of payment is related with
a) International trade b) Internal trade
c) State trade d) Local trade
2) Balance of payment is a systematic record of transactions between
the two countries.
a) Economic b) Social
c) Cultural d) Political
3) Balance of payment is composed of
a) Current account b) Capital account
c) Botha&b d) None of the above
4) In an international trade when the receipts are greater than the payments
then that of payment is known as balance of payment.
a) Deficit b) Surplus
c) Unfavorable d) None of the above
5) In an international trade when the payments are greater than the receipts
then that balance of payment is known as balance of payment.
a) Deficit b)  Surplus
c) favorable d) None of the above
6) is the cause of disequilibrium in the balance of payment.
a) Trade cycle b) Demand for export
c) size of import d) All the above
7) Balance of payment depends upon )
a) Rate of import b) Rate of export
c) Rate of exchange d) None of the above
8) is the measure to correct the dis equilibrium in the balance of payment.
a) Devaluation of currency b) Domestic price stability
c) Control on import export d) All the above
9) For the favorable balance of payment :
a) Size of import should be low b) Size of export should be high
c) Botha&b d) None of the above
10) is the non-monetary measure to correct balance of payments.
a) Import quota b) Export promotion
c) Import substitution d) All the above
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Q.4

Q.5
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11) In monetarist approach the balance of payments is linked with

a) Money supply b)  Supply of goods
c) Supply of services d) None of the above
12) According to monetarist approach the imbalance in the is the prime
cause of disequilibrium in balance of payments.
a) Commodity market b) Capital market
c) Money market d) None of the above
13) is the type of foregin exchange rate.
a) Fixed exchange rate b) Flexible exchange rate
c) Floating exchange rate d) All the above
14) FDI means
a) Forgein Direct Investment b) Food Development Index

c) Foregin Development Institution d) None of the above
15) SEZ means

a) Special Economic Zone b) Socio Economic Zone
c) Special Export Zone d) None of the above
16) WTO means .
a) World Tourist Organization b) World Transport Organization
c) World Trade Organization d) None of the above

Write short answer. (Any Four)

a) State any two failuars of International Monetary Fund.

b) What is the difference between GATT and World Trade Organization?
¢) Whatis exchange rate?

d) What is balance of payment?

e) State any two acheivements of World bank

f) Explain Special Economic Zone.

Write short notes. (Any Two)

a) Equilibrium and disequilibrium in the balance payment
b) Merits and Demerits of flexible exchange rate

¢) Impact of liberalization on Indian trade policy

d) FDI and economic development

Broad answers question. (Any one)
a) Explain the role of SEZ.
OR
b) Explain the adjustment of bop under system of gold standard.

Broad answers question.
Critically examine the monetary approach to the theory of balance of payment.

16

16

16

16
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Seat
No.

M.A. (Economics) (Semester - IV) (New) (CBCS) Examination:

Day & Date: Thursday, 21-12-2023

Oct/Nov-2023
Advanced Banking (MA24407)

Time: 03:00 PM To 06:00 PM
Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q.1 Choose the correct alternative:

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

controls the supply of money and bank credit.

a) RBI b) Indian Banking Association
c) SEBI d) None of These
The bank that takes the initiative to set up rural bank is called
a) Lead Bank b) Regional Rural Bank
c) NABARD d) Sponsored Bank
NABARD is associate with .
a) Rural development b)  Urban development
c) Industrial development d) Development of railways
Crop insurance covers the risks of
a) Natural fire b) Storm
c) Drought d) All of these
Lead Bank scheme was introduced by RBI in the year
a) 1986 b) 1969
c) 1975 d) 1980
Government Scheme is related to Financial Inclusion.
a) PMJBY b) UJWALYOJNA
c) PMJDY d) None of these
Retail banking means
a) retail shopkeepers b) same as universal banking
c) bank financing to retail traders d) None of the above
At present there are Banking Ombudsman Offices in India.
a) 20 b) 22
c) 24 d) 26

is the focuses on the financial needs of the institutional clients and
the industry.

a) Universal banking b) Virtual Banking

c) Internet banking d) Wholesale banking

The is vested with the responsibility of conducting monetary policy.
a) Central Bank b) Different Banks

c) Reserve Bank of India d) SEBI

Set | P

Max. Marks: 80

16
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Q.3

Q.5
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11) are the reasons for introducing the economic reforms in 1991.
a) The Gulf war
b) The negative balance of payments
c) Increase in fiscal deficit
d) All of the above
12) concept was not a part of the economic reforms under the New
Economic Policy (NEP) in 1991.
a) Centralisation b) Liberalisation
c) Globalisation d) Privatisation
13) organization work to implement crop insurance scheme in India.
a) Life insurance corporation of India
b) General insurance corporation of India
c) AandB
d) none of this
14) bank is an international finance and credit institution.
a) RBI b) SBI
c) universal bank d) Merchant Bank
15) Banking Regulation Act was implemented for co-operative banks in the
year of .
a) 1955 b) 1975
c) 1965 d) 1985
16) is the main function of international bank.
a) Financing the import-export trade
b) Financing for the project
c) Consolidation of international debt
d) All of the above
Write short answers. (Any Four) 16

a) Explain what is international banking.

b) Explain the nature of Regional Rural Banks.
c) Explain the need for a central bank.

d) Explain the concept of retail banking.

e) Explain Basel Agreement-1.

f) Explain the benefits of crop insurance.

Answer the following questions. (Any Two) 16
a) Explain the defects in Regional Rural Banks.

b) Explain the objectives of monetary policy.

c) Explain the objectives of the Bank Regulation Act.

d) Explain the recent reforms in the banking sector.

Answer the following questions. (Any One) 16
a) Explain the findings of the Narasimham Committee and What are the
banking sector reform measures suggested by Narasimham Committee?

OR

b) State the objectives and functions of leading banks.

Explain the functions of Reserve Bank of India. 16
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